R1 R2
14 8 14 15
plivi 6 plivi 12
3t | 5 3tz | 10
At | 4 At | 8
501 | 3 501 | 6
6l | 2 6tz | 4
768 | 1 76 | 3
8t | 1 8t | 2
oft | 1 ofit | 1
1061 | 1 1061 | 1
1161 | 1 1161 | 1
1261 | 1 1261 | 1
131i 1 131 1
1461 | 1 1461 | 1
1561 | 1 1561 | 1
1661 | 1 1661 | 1

Sa—-ZL179k R1 R2
[ BFR W& | Brob| WL | Frob|noF| astReobs i &
1 HAY 1131 8 1131 15 23
2 LFI 3fi 5 2(i 12 1 18
3 SAl 2{i 6 4131 8 1 15
4 SUZ 4411 4 31 10 14
5 KOG 61i 2 5{i 6 8
6 ISH 5{i 3 6fil 4 1 8
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FP Q1 Q2
6| %2a1 =#& TIME IGfii| F#a1 =& TIME IGfii| 2e1 =# TIME
1 1 HAY (12| 25.831
2 Q2~ | 2 SAl [ 14| 26.019
3 3 SUZ | 18| NO TIME
4 4 LFI [13] 26.090
5 5 ISH |[11]| 26.329 | %%
6 6 KOG | 14| 26.864
RACE.1 RACE.2
G| &1 (=% R = GG %A (8 B =
1 HAY [12 10 - 1 HAY | 15| 15 -
2 SAl |14 10 2.369 2 LFI 14| 15 0.443
3 LFI |15 10 2.983 3 SUZ | 12| 15 2.328
4 SUZ |18 10 3.891 4 SAl 13| 15 2.814
5 ISH [13 10 12.289 51 KOG [11] 15 11.329
6 KOG |17 10 13.642 6 ISH 18| 15 11.682




